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230,874,610
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S E-IE <3\l
M LoI=NEX
Sol: Losmx 5X (erel: @2
_ _ _ Muo
SAN-ZH-SA(FA) - NRAY - BES Ofl &+ 9K Ofl At ot Hws2
OLoaRe MR 29 19,200
= 9,600
= 9,600
308 X+XlEHHISOIH 11,127,741 7,809,015 3,318,726
= 8,539,805
= 2,587,936
01 RAXESHBARES 11,127,741 7,809,015 3,318,726
OLkol LX2IAY X 11,101,741
= 8,539,805
< 2,561,936
Ol QY RH2I AFE (1) 26,000
H8te0ls 2% U LIS AK 2 208,400 106,000 102,400
307 QI2H0IH 183,500 76,000 107,500
02 SINHFARE 143,500 40,000 103,500
OUet=0ls] Toidts] ARA 29 75,500
OZEY ZIzxnelM 29 28,000
Oz A =0 40,000
04 QIS AR Z 40,000 36,000 4,000
OLQAXNEH A4S 13,000
OLQsMRE L AIXZEHS 13,000
OLQAXER I 10,000
OLXAZA HEA 4,000
308 XHXlEHHISOIH 24,900 30,000 £5,100
01 RAXESHBARES 24,900 30,000 A5,100
OQI 35| N=prS)| X2 24,900
SAHLQ X 327,240 2,650,000 12,302,760
= 249,000
= 78,240
308 il EHHISOIH 327,240 2,650,000 12,302,760
= 249,000
= 78,240
01 RXESHMBALES 327,240 2,650,000 ~2,302,760
OSSN0 SZANS20 29 X 249,000
= 249,000
OSHEQ ZSHER 2SN
16,300,000 * 167H 2 *30% 78,240
COSEMNHIA ALY 5,227,291 1,729,200 3,498,091
= 4,344,640
= 882,651
308 XXl EHHISOIH 5,207,291 1,729,200 3,498,091
= 4,344,640
= 882,651
01 RXESHMBARES 5,227,291 1,729,200 3,498,001




S L OIROH Ol Dt
M LoI=2XEX
Sel: Lo=Ex =X (&te @
i} _ _ bolEN=
2N -3 -2 (SH) - NEME - HES Ol Ao @;OH Hl =2
OkosE J|I=2MHIA(368Y) 3,118,945
= 2,649,890
[= 469,055
OkolEs =& AMHIA(799H) 1,988,346
= 1,694,750
[= 293,59
OLosE JIEMHIA 29 XK (FIH) 120,000
Z2Y 294 I 4,818,400 5,236,600 A418,200
308 XXIESHSOIA 3,084,400 3,447,100 A362,700
01 MXSHIANEE2 3,084,400 3,447,100 A362,700
OLQIXIS A LA 10,0002 %5, 500 *30% 16,500
OLWAI A2 B2 50,0008 5,580 A *15% 41,850
OokoIZz ) NP B2 48,000
OoHARY HAF X 18,600
OZ2Y &4 T2y 23 165,000
odzgd A== 14
2,000,000 x550JH A *30% 330,000
OZ2E TZB2ACIAL 2H(21Y)
26,500,000 «212 %30% 166,950
OZ2Y 29| 14
1,500,00024 %5, 5007H A *25% 2,062,500
OZ2Y AQ2E 2 29H| X (=) 235,000
403 AXISHEX=201E 1,734,000 1,789,500 255,500
01 MXSHI=2EX 1,734,000 1,789,500 255,500
(@E=—t=E=i= gl ==Y
2,000,000 x270H A +30% 162,000
0OZ2Y dl= K& 900,000
OLolslat 2 AZYAA JsEY 672,000
LOI0IBAIE SAL HRMH XN 68,400 68,400 0
308 AXIESHHSOIA 68,400 68,400 0
01 IXSHIAEES 68,400 68,400 0
OLCI0ISAIESAIRHRINA 68,400
ALY L0 R 3AAY 604,500 586,350 18, 150
308 AXIESHSOIA 604,500 586,350 18, 150
01 AXSHINSE2 604,500 586,350 18, 150
OMASTHIIE Ol ALAHH Y 379,500
ORz Z2AY 29 225,000
co=Exs 29 1 970,000 749,000 221,000
308 XXISHSOIA 670,000 619,000 51,000
01 AXSHIAANEE2 670,000 619,000 51,000
okol=xz 29 114 670,000
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A = oIE oDt
M Lo=xs
Sl Lol=X S (s &)
_ _ PG ==
SN EHH . H(EH) - NEAY - BES Of) & o Ol A o8 HlusSZ
403 NAIEHHSA=01H 300,000 130,000 170,000
01 TXIEHMA=ZE = 300,000 130,000 170,000
okel=sXa dx X3 300,000
Hot= QIS X STALY X 59,100 158,500 299,400
308 AXIEHSOIA 59,100 158,500 299,400
01 HXSMBLdE2ES 59,100 158,500 A 99,400
O%s" LAY E5 36,000
Okel NsSotd&E 25 23,100
LEXNAIE JIsELAY 9,181,430 14,114,242 N4,932,812
= 6,771,063
S 2,410,367
403 XXX SA=01d 9,181,430 13,483,442 A4,302,012
= 6,771,063
< 2,410,367
01 MXIEMA=2EE 9,181,430 13,483,442 N4,302,012
O LFXAE JIs2LAY 9,181,430
= 6,771,063
= 2,410,367
ZRAHINHALS 7,026,000 16,943,814 9,917,814
= 6,734,000
S 292,000
207 SO0 | 57,000 0 57,000
01 g E S| 57,000 0 57,000
OFM=s8HE HFAES 57,000
403 MR EHSA=01H 6,969,000 16,943,814 N9,974,814
= 6,734,000
= 235,000
01 MXIEHMA=ZE = 6,969,000 16,943,814 29,974,814
ORI ML 6,734,000
= 6,734,000
O3 =233 g2 e 235,000
COIMEAIE SAN MM X& 230,640 230,640 0
308 KHXISHHMSOIE 230,640 230,640 0
01 MXEHHMBdEEXES 230,640 230,640 0
OLQdEAld SALL H2HH 230,640
Lo=EXAE X 18,206,734 18,406,725 A 199,991
= 8,882,451
= 9,324,283
307 elztold 30,000 30,000 0
04 QIZtHALE X 30,000 30,000 0
OLMEANE ozd & & stote sl 15,000




S LoIEMel
M LoI=NEA
Sl LoI=R S (e
_ _ HEc
SAN-ZH-SA(FA) - NRAY - BES Off &F o4 Ol AF o8 Hws2
OMItOI2 4 AHER 80t CH3 15,000
308 XHXIEHHSOIH 18,176,734 18,376,725 £199,991
s 8,882,451
= 9,294,283
01 MHACSHBASES 18,176,734 8,376,725 A 199,991
O=QA& X2 13,150,738
= 8,882,451
= 4,268,287
Ol EHIIQALE X & 5,025,996
NEMDBEH M= 111,000 70,800 40,200
HEMIgse 222 M 83,000 58,000 30,000
201 Ygreg| 8,000 8,000 0
01 At eIt 8,000 8,000 0
OFEL DS 222 M 8,000
207 STl 80,000 50,000 30,000
NIEEEET 80,000 50,000 30,000
OLQ=XESTLA0E 25 80,000
CHeta Dt ot 28 24DS 8,000 8,000 0
307 2120l H 8,000 8,000 0
04 QISALR X 8,000 8,000 0
OfstM I aTots 2Ees4 DS 8,000
ORERHEIE A2 4,800 4,800 0
201 Ygreg| 4,800 4,800 0
01 AtRZelt| 4,800 4,800 0
OURE @EIIE Mg 4,800
CIEZOfO BAXRS XS 10,200 0 10,200
308 XHXIEHHI SO 10,200 0 10,200
01 RXSHBASES 10,200 0 10,200
O &R0 ELXIRS 10,200
Dol ZXSA 67,336,212 66,047,910 1,288,302
= 32,968, 124
p 2,840,000
= 12,393,529
= 19,134,559
D4Rl =X 49,784,366 52,965,854 ~3,181,488
= 23,471,517
g 2,840,000
2 11,451,519
= 12,021,330
ZOH Y X2 20, 157,163 23,282,076 ~3,124,913
= 17,860,778




Rk
L H0jY =X
el

X ZH
(=]

L=RelPS gyl Relpni;

Zojel =X

_ _ _ Muo
SN EB - SA(SH) - MBAY - BES 01l &k o e timE=El

< 2,296,335

308 XX EHH SO 20,157,163 23,282,076 13,124,913
= 17,860,778
< 2,296,335

01 HXSHBAEES 20,157,163 23,282,076 13,124,913
OFN+YXE(ES14,1708, BS15,340) 20,157,163
=2 17,860,778
= 2,296,335

Dol o=yl N 963,270 931,037 32,233
2 856,240
= 107,030

308 XX EHH SO 963,270 931,037 32,233
=2 856,240
= 107,030

01 HXSHBAEES 963,270 931,037 32,233
Oofel ol 2] 963,270
=2 856,240
= 107,030

Z0joIS+2 X 1,758,251 1,844,670 186,419
2 1,447,971
= 310,280

308 XX EHH SO 1,758,251 1,844,670 86,419
=2 1,447,971
= 310,280

01 HXSHBAEES 1,758,251 1,844,670 186,419
OFMOIS S 1,758,251
=2 1,447,971
= 310,280

ZOHQ! RHADEH| X 78,012 74,808 3,204
2 69,343
= 8,669

308 XHXIEHH SO0 78,012 74,808 3,204
2 69,343
= 8,669

01 NXSHAALES 78,012 74,808 3,204
O XEHDSHI (S 35, D 51%) 78,012
=2 69,343
= 8,669

Dol SSACH| N 7,275 10,350 £3,075
= 7,275

308 XHXIEHHSOIA 7,275 10,350 ~3,075
=2 7,275

01 HXSHBAEES 7,275 10,350 ~3,075
OF QIS =X EH| (7462) 7,275
= 7,275




S QI FOfOI Dt
X{ ZH - XFOHOl EXlZXI
(== fe=) — -/ [S=Ta

ol ROHO SRS (69 &2
_ _ _ Muo
SN YO (BH) - MBAY - BYS Ofl & o il o o Hns2

TOfQIMEAL JS2Y XD 4,068,984 5,584,321 A 1,515,337
=2 2,712,656
= 1,356,328

403 RXISHSXHZ0IH 4,068,984 5,584,321 A1,515,337
=2 2,712,656
= 1,356,328

01 XIXICHH e S 4,068,984 5,584,321 A1,515,337
OFOYOIMBAIE Il S22 4,068,984
= 2,712,656
= 1,356,328

SOEZ0HQ FEIHTAY X 347,700 342,000 5,700
=2 231,800
= 115,900

403 RXISHSKH=0IH 347,700 342,000 5,700
=2 231,800
= 115,900

01 XSHI=EE 347,700 342,000 5,700
OSO0{&ER0jQ FeHE 347,700
= 231,800
= 115,900

TOHQISTI AL AHIAA0SR X2 A 165,240 165,240 0
=2 140,454
= 24,786

308 XHXIEHHI SO 165,240 165,240 0
=2 140,454
= 24,786

01 UXISHBALSE 165,240 165,240 0
OFMA=STIAL AHIAYA0BR X2 165,240
= 140,454
= 24,786

T OHQI MR AL 50,000 50,000 0
= 40,000
= 10,000

307 212H0I 50,000 50,000 0
=2 40,000
= 10,000

02 QIZIHAER 50,000 50,000 0
OO & QI MF ALY 50,000
= 40,000
= 10,000

TOHQIMENL 2 17,089,519 15,478,080 1,611,439
= 11,339,519
= 5,750,000

308 XHXIEHHI SO 17,089,519 15,478,080 1,611,439
= 11,339,519
= 5,750,000
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Rk
L H0jY =X
el

X ZH
(=]

L=RelPS gyl Relpni;

e =Xsd

SN - E(SH) - NRAY - BES | oK =t
Off &k o
01 AXNSMBELEEXS 17,089,519 15,478,080
OZ0He!l MEAIE 2 (2500 4) 17,089,519
&2 11,339,519
= 5,750,000
ZOHQl MEtord & 1,809,990 1,702,890
| 1,714,940
= 95,050
308 XX SHHSOIA 1,809,990 1,702,890
| 1,714,940
& 95,050
01 AXNSMBLNEES 1,809,990 1,702,890
OFof4g =X
12,0003 » 12,000 «12& *30% 518,400
| 483,840
L= 34,560
OR=X4+Y X
35,000& *4,000H 123 »30% 504,000
Il 470,400
= 33,600
OZFMAZT Zo§el =yl N
35,0003 *2,5000t 72 =12 *30% 315,000
Il 294,000
= 21,000
OEZ =0 RS X
131,000& *9, 3002t = *30% 365,490
| 364,560
L= 930
OFAFHOLS ABLHOIZ 42 L WERZ
gl XI& 4,000, 000% *102! *30% 12,000
Il 12,000
OR2Q2F0HQl o2 X
230, 0003 «300H *30% 20,700
| 20,700
OOIF YRR H2AX X
200,000& *600H *30% 36,000
| 33,600
< 2,400
ORMHALDA 2
8,000, 000& * 169 A *30% 38,400
| 35,840
& 2,560
SSEMHLES KL K& 116,928 116,928
308 XXX SOl 116,928 116,928
01 MXSHHBAEEXZ 116,928 116,928
OZEZZMQ B4y
40,000 812 *12& «30% 116,928
ZOHQI THEHAFS KI & 144,000 144,000
J| 37,114
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S QI FOfOI Dt
X{ ZH - XFOHOl EXlZXI
(== fe=) — -/ [S=Ta

chel: Fojel 2XEA CEER-E)
SN (B) - MBEAY - B2 0 aF 0l S HRZS2
= 106,886
308 XXX SO0I& 144,000 144,000 0
J| 37,114
& 106,886
01 MIXSHHIAMNEEZ 144,000 144,000 0
OAIZZO0H O THE AL HI 144,000
J| 37,114
= 106,886
AFEQl Ol ALY 88,000 88,000 0
307 QIz2to| A 88,000 88,000 0
02 DI2ZHEAE X 88,000 88,000 0
OA &9l ol=AtH 88,000
SOOI &S & ALK 335,000 456,000 A 121,000
307 QIz2to| A 335,000 456,000 A 121,000
02 0I2ZtE3AMNE X 70,000 150,000 A 80,000
OXOHOIEHXITHE A 70,000
04 DIZ2tHALE X 265,000 306,000 241,000
O&OQl QIAIfSE AL 265,000
N X RAEHSHE(2E) 384,949 505,050 A 120,101
= 44,250
& 340,699
307 QIz2to| A 384,949 505,050 A 120,101
= 44,250
= 340,699
02 DIZ2ZtAAME X 384,949 505,050 A 120,101
Osd=ssdHeHEdY 117,150
= 17,250
= 99,900
OsdddEELMNHSYH 182,799
= 27,000
== 155,799
O&jolaAAMSAZA 30,000
OMBEEHHIGTTAEE S 5,000
OsEEMOIASS 2K 50,000
ORI K RHEHSH(KS) 1,323,946 1,153,000 170,946
J| 1,087,946
== 236,000
308 AtXIEHHMISOIA 1,156,946 730,000 426,946
J| 1,087,946
== 69,000
01 MXSHHEBNEETS 1,156,946 730,000 426,946
OAZ =3tEHHEH 2 (13 A) 451,350
J| 451,350
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S QI EOH Ol Dt
Ha: Zojol =2XNSH
Sl Zojol =XSA

- _ HdE & =
SN EH . S(EH) - Abod e iz
OAlZ HOHMEEHH 23 ( 497,596
| 492,596
L= 5,000
OAlZ ZiHI RS 64,000
OAZ ZOHIEHOAIL 144,000
J| 144,000
403 KX M SK=01H 167,000 423,000 A 256,000
01 MXEMA=E =R 167,000 423,000 A256,000
OANZZOe! XA Ald JIsE2 167,000
ZOHQIEHO A LSS EE(HE 165,804 155,804 0
= 36,750
& 119,054
307 212t01& 155,804 155,804 0
= 36,750
& 119,054
02 2ItBAE X 155,804 155,804 0
OSEHMHABAALXNZHHZ S 100,804
= 18,000
& 82,804
OEYANELLINCUE 55,000
= 18,750
& 36,250
ZONQIHO A S S EHE| (K& 69,000 392,600 A323,600
308 XXl & XS0l 69,000 289,000 A220,000
01 AXNSMBANEES 69,000 289,000 A 220,000
OF2AZ0el JtE =0l 24,000
OAZZOoHel JtE Ot 45,000
O ATHEHEHZ S 50,000 50,000 0
307 212t01& 50,000 50,000 0
02 BltAAE X 50,000 50,000 0
OO HATHeHH 50,000
S0tel HATEMEH 29 50,000 50,000 0
307 QI2t0IA 50,000 50,000 0
02 BI2tAAEX 50,000 50,000 0
OsOAATHEHH 50,000
O SE2EME 2Z 62,000 56,200 5,800
= 31,000
& 31,000
307 212t01H 62,000 56,200 5,800
= 31,000
& 31,000
05 GIZtRE = 62,000 56,200 5,800
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SN

L=RelPS gyl Relpni;

Zy: Zojel =2XNBA
el Fojel =XST @)
_ HAc =
SN HB - SRA(3) - MTAL arey i =
OZ0HOl SE2BAY 2 62,000
= 31,000
= 31,000
VIR e 50,000 50,000 0
307 212t0H 50,000 50,000 0
02 SIPABE 50,000 50,000 0
OE4+3R8Y 29 50,000
A 0§ & 2 51 X & AL 91,210 91,200 10
308 XHXIEHHISOIE 91,210 91,200 10
01 RACSHBLRES 91,210 91,200 10
OFH NSRS
4,000 %6, 3347 71274 2 *30% 91,210
B2 118, 125 0 118, 125
2 105,000
= 13,125
308 XHXIEHHISOIE 118, 125 0 118, 125
2 105,000
= 13,125
01 RASHZARES 118, 125 0 118, 125
OFMHALH AN & 118, 125
2 105,000
= 13,125
EYHUNSXRME 29 150,000 0 150,000
307 212t0H 150,000 0 150,000
02 DIAPARE 150,000 0 150,000
O INEXAHEH 2 150,000
ZOjol 2sHES S 100,000 0 100,000
307 212t0 100,000 0 100,000
02 DIABARE 80,000 0 80,000
OFoHel Setasice 29 70,000
OA2tZ OOl SetAasce 29 10,000
04 DI2teH AR X 20,000 0 20,000
OAZNY SNHLL 2 20,000
Zojor=x = 7,551,846 13,082,056 4,469,790
2 9,496,607
= 942,010
= 7,113,229
HOHOIM LS TOAIL 2 164,786 105,212 59,574
2 61,763
= 103,023
307 212+0] 106,300 105,212 1,088
2 42,520
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SN
X{ ZH -
S Tt

cHe:

COIE O 01 T
Tojel =X
ZojoI= R &2

SN BB - MEAY - BES

22
J2

20
P
2

< 63,780
02 QIFABE 106,300 105,212 1,088
ORMNQAMAZ BHIIALE 2Y 106,300
= 42,520
= 63,780
402 I X0 H 58,486 0 58,486
= 19,243
= 39,243
01 QAREEE 58,486 0 58,486
ORONQAMAZHYAL LXE 50,000
= 15,000
[ 35,000
ORONAMMZBAL JIS2Y 8,486
= 4,243
< 4,243
0o WEEEIIT XY 111,097 67,247 43,850
= 58,753
= 52,344
308 XXl EHH SOI & 111,007 67,247 43,850
= 58,753
= 52,344
01 HXESHBAEES 111,097 67,247 43,850
O 4 MEBEI|IT BI X (708) 66,097
= 58,753
[ 7,344
Osi=st 2R AHIAME 29
150,0002 *1,0002 *30% 45,000
SSTHHANEME(INAME 29 164,000 210,000 A46,000
= 120,000
= 44,000
308 XXl EHH SO0I & 164,000 210,000 A46,000
= 120,000
= 44,000
01 HXESHBAEES 164,000 210,000 A46,000
OZSZ0He NYMEXALEH 29 164,000
= 120,000
[ 44,000
HOHQI A HEXIAY 2 7,674,550 5,469, 145 2,205,405
= 6,273,286
= 1,401,264
307 912101 & 117,610 45,650 71,960
= 82,327
= 35,283
05 QI2t9IEra 117,610 0 117,610
OZEZ X0 HELEQ NSH X 117,610
= 82,327




S QI FOfOI Dt
X{ ZH - XFOHOl EXlZXI
(== fe=) — -/ [S=Ta

Sl FOjQISR He Col A 2
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES e Ofl At ot Hws2
< 35,283
308 XiXIEHHISOIH 7,556,940 5,423,495 2,133,445
= 6,190,959
= 1,365,981
01 MHXESHHBARES 7,556,940 5,423,495 2,133,445
OZEZZQ SEEXA(1,292 6,986,940
= 6,190,959
= 795,981
OZEZZQ ESEXE N (FH) 300,000
OZOHQ JIAE R0l 2S X
25,0002 * 150 202! 1224 *30% 270,000
DOl UXelArY XL 386,328 1,394,545 A1,008,217
= 297,175
= 89, 153
308 XiXIEHH SOI& 386,328 1,394,545 ~1,008,217
= 297,175
= 89, 153
01 MHXESHHBARES 386,328 1,394,545 A1,008,217
OFOHQl =X LX2IA(2199) 386,328
= 297,175
= 89, 153
QMUY EAILI SR X 91,795 718,039 626,244
= 54,530
< 37,265
403 XX SHHISKH=01 A 91,795 718,039 626,244
= 54,530
= 37,265
01 X SHAT=LE 91,795 718,039 626,244
OFHOAXATHEAIL DS 81,795
= 54,530
= 27,265
OFOHQAXATHEAIL I SSL () 10,000
HHQA=ST 2 2 3,312,870 2,300, 120 1,012,750
2 837,260
= 2,475,610
307 212H0|H 3,312,870 2,300, 120 1,012,750
2 837,260
< 2,475,610
02 QP ABE 20,000 20,000 0
OFOHQI=X B BAK B40S 20,000
= 10,000
= 10,000
05 BI2reIE3 3,292,870 2,280,120 1,012,750
OFMeI=x 29 1,857,870
2 632,510
< 1,225,360
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SNBSS - MRAY - BHES Aboy e HIRZE2
OXNAMEAIE SAR XN 57,600
05 SI2teiera 122,040 122,040 0
OFNA=XZ SAR XN 122,040
NI M BAIL S 230,000 230,000 0
308 XHXIEHHISOIH 230,000 230,000 0
01 RAXESHBALES 230,000 230,000 0
OFOHY! MATHEAIL 29 230,000
ZOHQIAI ST AR X 2 et 428,208 428,208 0
308 XtXIEHHISOIH 428,208 428,208 0
01 HXSHBAEES 428,208 428,208 0
OANZZOHOI0IZAIE SAR M RN & 100,080
ONZHHAHLTNEAIE SAR XN 17,544
ONZEOHIMEAIE SARHRHA 310,584
EUNHANY MBI 2 230,000 450,000 £220,000
307 QI2H0IH 230,000 450,000 £220,000
02 SIHP AT 230,000 450,000 220,000
O&Y EST0H NHEABHE 2 230,000
ZOHQIBAIL Jls2Y 799,000 146,000 653,000
= 27,950
< 771,050
402 BIZHRH= 0| 465,000 146,000 319,000
= 27,950
= 437,050
01 QIAXEEE 465,000 146,000 319,000
OA2AFI=X2 Jls2Y 405,000
OFMWI=X2 Jls2Y 60,000
= 27,950
= 32,050
403 KX SHHSAHEO0IH 334,000 0 334,000
01 RXISHR =X 334,000 0 334,000
OSIIFI =2 HEY 300,000
OFNI=X2 S JIsEY 34,000
ZOHO!l N E LAY 106,950 0 1,106,950
= 851,500
= 255,450
308 XHXIEHHISOIH 106,950 0 1,106,950
= 851,500
= 255,450
01 RXESHMBALES 106,950 0 1,106,950
OFOHQ X T L0IA (1318) 106,950
= 851,500
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OOt MEXZ 2,000,280 0 2,000,280
= 1,772,400
L= 227,880
308 XX SHHSOIA 2,000,280 0 2,000,280
= 1,772,400
& 227,880
01 HXSHBLEXS 2,000,280 0 2,000,280
O¥iols MEXZ 2,000,280
= 1,772,400
= 227,880
Zofel dXeEHEMY = 385,000 0 385,000
307 212t01& 385,000 0 385,000
02 QIHFAE X 370,000 0 370,000
Ozl Xtel & 2XNUHERAD =24 370,000
04 CIZFSALE X 15,000 0 15,000
OZohel H=ereal N 15,000
HY2SZHI(-QAHO D) 68,290 68,290 0
el | 4,200 4,200 0
ol Y| (=l FoH el D) 4,200 4,200 0
203 HRF&Hl 4,200 4,200 0
04 BEASSIHRFEHI 4,200 4,200 0
O QI ZHOH 2! It 4,200
Jl=2&Hl 64,090 64,090 0
JI2Z 8l (= el &oel ) 64,090 64,090 0
201 Let2IH| 32,300 32,300 0
01 AtER22/Hl 32,300 32,300 0
O HRF 32,300
202 O4Hl 31,790 31,790 0
01 =Wl 31,790 31,790 0
Ol HRFA 31,790
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